NUMBER SYSTEM | PART-3

SSC,CDS

A number consists of three digits of which the
micddle on is zero and their sum is 4. [f the num-
ber formed by interchanging the first and last
digits is greater than the number itself by 198,
then the difference between the first and last
digits is:

TF T H 9 o1 2 € e 9 e m ot g e
SR ST A1 4 BT € | 9 w8 S sife % i s A
wEeH T A T T W § 198 i €, 4 oot ofn
Afas Rl o o= = AW &

(A) 1 (B)2

(€)3 (D) 4

There are certain two digit numbers. The dif-
ference between the number and the one ob-
tained on reversing it is always 27. How many
such maximum 2 digit numbers are there?

e ST G o =1 71 ST gHEn 27 a1 ¢ | UE Sifeekan

2 =i % T S E 2
(A) 3 (B) 4
€y 5 (D) None of these

Let X be a 4 digit positive integer. Such that
the unit digit of X is prime and the product of
all digit of X is also prime . How many such in-
teger are such possible.

A ST X Uk 4 STkl o1 oI 01 & | S ok X 1
AT ST SR € SR X o meft STl o o oft ST
T\ U o qorier Hom € |

(A) 4 (B) 6

(C)11 (D) 22

xyz is a three digit number such that 8 = xyz +
yzx + zxy then which of the following is true ?
Xyz Uk b1 3! i T 9 § 50H 8 = xyz + yzx +
zxy 79 A H o aem F ?

(A) S is always divisible by 3/ 3 zaw =4 faas= 7
(B) S is always divisible by 9/ 9 z#wn =4 faus= 7
(C) S is always divisible by 37 /37 gawn 4 faurag
(D) A & C are correct/ A 3R C gRm =4 fasa ¥

xyz is a 3 digit number such that when we
calculate the difference between the xyz-yxz,
the difference 90. How many possible values
exist for the digit x and y.

Xyz U A1 375 I T 51 TR & 7 919 xyz-yxz F &
e =TT ¥ 79 A 90 7, 9 AR x SN y % fha 3t
Haferd 3 |

(A)9 (B) 8

()7 (D) 6

In a six-digit number, the sixth, that is, the
rightmost, digit is the sum of the first three digit,
the fifth digit is the sum of the first two digits, the
third digit equal to the first digit, the second digit is
twice the first digit and the fourth digit is the sum
of fifth and sixth digits then the largest possible
value of fourth digitis ?

T 6 3T & 9% H fa9 37k 95l 917 311 & 9T
YA | 5T 3k g §1 379 ok T % 9ER € | Ty 5
ol 317 % 9UeR ¢ a1 (5da % uge 51 = g |
<11 3ok, T IR T 319 % TP % ae] € 99 9qd 31
SAfeEmTE 91 | w7

(A)7 (B)6

()8 (D)5

If a number have two digit. If we reverse the
digit and add to the original number then the
new number is multiple of ?

ol de H ©f 379 ¥ | afe STl 1 T seed A 9 g
Wl AR 9 § 918 99, a1 55 TR 9T TRomHT S

a1 T © srama faafsa g ?
(A) 11 (B) 9
(€) S (D)3

A two digit number is thrice the sum of its digit.
When 45 is added to this number the digits are
interchanged what is the sum of its digit ?

qfE < ol =1 WEAT T 37! % AR 1 T T E 1 9fg
e H 45 SIS 2, 6 S 315h o T aae] = 2 | He T
Skl BT TRTRET F41 € ?

(A)11 By

(€7 (D)5

In a two digit number the 10th digit number is
5 more than the unit digit if 5 times of sum of
digit is subtract from the number. Found that
the number is reverse then find the sum of
digits of original numbers.
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Mother's « Number System (Part-3)

10.

11.

12.

13.

=fe S < = WEm H TET T STF IR ¥ oiw W 5 ot
¥ 197G 39 ST &7 3 AR S 5 T[S WA 9w i
T A I T I ST e W € | TR 39 W ¥ i

= AT FE 7
(A) 11 (B) 7
(C)9 (D) 13

For a positive integer n. let P denote the
products of the digit on nand S denote the sum
of digits of n. the number of integers hetween
10 and 1000. for P, + 8 =nis.

TF o W n % fE, PosweR o o e e
S, Sfi 3 ARTEE I T € a9 wedt 10 ¥ 1000 T
it fipeett W € ot P+ S = n#)

(A) 53 (B) 8

({C)9 (D) 52

[fwe divided the unknown two digit number by
the number consisting of the same digits
written in the reverse order, we get. 4 of a
quotient and 3 as a remainder. If we divided
the required number by the sum ofits digit, we
get as a quotient and 7 as a remainder. Find
the product of digit of this number ?

o T B ST Tt WA W, S e B ueed ¥ W W
=T, TH T TS W U T ® 9 e T 4 TR
A 3 AT B T H I B € A T TE A A I
st F A & faenfor = Q@ 9T 8 Ao WoEe 7 A

TR, W F ST w1 O aet ?
(A) 56 (B) 7
(C)9 (D) 42

The sum of four consecutive two digit odd
numbers, when divided by 10, because we get
a perfect square, which of the following can
possible be one of these four numbers ?

Tfe T oF F AR AR o qews F 9w 10 9
Trenforg fepen o o T ot o W W gt | T
W - T T € T § 2

{A) 21 (B) 25

(C) 41 (D) &7

If we divide a two digit number by the sum of
its digit, we get 4 as a quotient and 3 as a
remainder. Now if we divide that two digit
number by the product of its digits, we get 3 as
a quotient and 5 as a remainder. Find sum of
digit of the number ?

e B 23 I T I TR ST o ATl o oo TR
T T TR 4 T RSl 3 T B S | G T WA

14.

15.

16.

17.

T ST 2 UM § faeTea TR e a1 aeTee 3 a9
Foher 5 T S € A A 3 ST AR e ?
(A) S (B) 14

(C) 7 (D) 19

In a three digit number, hundread's digit
number is twice the unit digit number and its
some of digit is 18. If we reverse the number
the new number, 396 less than the original
number then find the difference between
hundread digit and tenth's digit ?

A H ST At T W F, AeRS ¥ T o 7% T
¥ T T ST LA € ST SRR Wt oF T W AR
18 % 1% S STt =1 wete T & 4 o W 396 9
Bl O § AGTER 9 WA F HES O oFF SR TR W
& # AT ST e —
(A) 1

(€) 3

(B) 2
(D) 5

If reverse the digit of a two digit number gave a
new number which is 24 less than the fourth
time of origianl number. In original number
tenth's digit is 7 more than the unit digit than
find the original number ?

T ST T T F SH W IR TCe WEH T S
I Bt § W 0 e  wn 9 24 w0 ¥ A wwE =
sTeF, T F ST W 7 eifirm &, e e wmet ?

(A) 29 (B) 36

(C) 58 (D) 18

The sum of two digit number and the number

obtained by reversing its digit is a square
number. How many such numbers are there ?

TN 3T Tt T T ST Ige T W, S wemed
T S T U T U B S, ol U Rt S

TE T
(A) 5 (B)6
(C) 7 (D) 8

If the digits in the unit and the ten's places ofa
digit a two number are interchanged, a new
number is formed, which if greater than the
original number by 63. Suppose the digit in the
unit place of the original number be x. Then all
the possible values of x are -

T ST T WA F STH A geer T WA, O T |
63 a1 © Al T = o F x B 9V Aaet x F -

AR HME T ?
(A)7,8,9 (B)2,7,9
€0, 1,2 D) 1,4,8
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Mother's « Number System (Part-3)

18.

19.

20.

21.

22,

In a three digit number the last two digits places
are interchanged, a new number is formed
which is greater than the original number by
45. what is the difference between the last two
digits of that number ?

=t T A = W # ot & ot o T W e H
et fia = A O T S €, W B e e § 45
Sfor ST | W HeE F iR q o F A= A S

BFT ?
(A)9 (B) 8
(€) 6 (D) 5

When a two digit numbers multiplied by the
sum of its digit, the product is 424. when the
number obtained by interchanging its digits is
multiplied by the sum of its digits, the result is
280. The sum of the digits of the given number
is ?

T B ST T AT TR THER ST R A I R s,
T IUAER 424 ST E | TR ST W TH T W w5eH W
T WA 5 {1 T A W on R e 6 e 280
ST & | A F SR A 2

(A) 6 (B)9

(€)8 (D) 7

The product of digits of a 2 digit numberis 24.
If we add 45 to the number. The new number
obtained is a number formed by interchanging
the digits. What is the original numbers ?
7% T &I T W S O 24§ a0 78 e
T 45 IgH T W TN 9% & ST ® AT W 9T B g,
A T T e ?
(A) 54

(C) 38

(B) 83
(D) 45

If the sum of two numbers multiplied by each
number separately, the product so obtained are
247 and 114. The sum of the number is ?
7If% T ST =AY TR 3 ST 2R I A W ST W o
[T TEE W TR FAY: 247 #R 114§, @ wEn
S = A w2
(A) 19

()21

(B) 20
(D) 23
The digits of a three-digit number A are written
in the reverse order to form another three digit

number B. If B » A and B - A is perfactely
divisible by 7 than which of follwoing is true ?

T 27T ! TE e A # e wa ¥ fen mEen B
W Ed § A% B > ASRB - A, 7 9 IUra: fyentem § 7=
AT ?

23.

24.

26.

27.

(A) 100 < A < 299
(C)112<A <298

(B) 106 < A < 305
(D) 118 < A < 317

Consider a 3 digit number having all 3 digits
different and number is divisible by 7, if we
reverse the digit of this number then this is
also divisible by 7, how many such type of
numbers are possible ?

3 1 =t T o i o1 STem-oTem g 7 W e €
A T9 T A A Awa fon W @ of 5w wen 79
T BT T TR A R T Hee

(A) 4 (B) 5

(€)6 (D)7

Reverse the digit of a two digit number and
subtract from the same number, If the number
gets is 53, then now many pairs of such
numbers are possible ?

T TaeT= T F o7 =1 95e FL 59 9e H 9 ues 4
T WA 53 B, 1 Ut fpat W & e weym R 2

(A) 1 (B) 2

(€3 (D) No pair/=é e 721

The sum of digit of a two digit number is 8. If the
digits are interchanged the numberis 54 less than
the given number. Find the number ?

=2 fen = o W 54 % B W 8, 7% wen R 2
(A)71 (B)61

(C)17 (D) 16

The sum of the digits of a two digit number is

1
= of the number. The unit digit is 4 less than

the ten digit. If the number obtained on

reversing its digit is divided by 7. the remainder
will be ?

e .. . . 1. . ..
Tl 319! i &1 5 Al =1 F0T, T T — % | S 3

7
TR STF W 4 F0 8| AR STH F Soe T T AT STF B
7 ¥ fomfem =X @1 3w g 2
(A)5 (B) 6
()3 (D) 2

In a four digit number, the sum of first 2 digits
is equal to that of the last 2 digits. The sum of
first and last digit is equal to the third digit.
Finally the sum of the second and fourth digit
is twice the sum of other 2 digits. What is the
third digit of the number ?
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Mother's « Number System (Part-3)

28.

29.

30.

31.

TR 3TAR it T T | vEe ol ST A T 2 ofF
o7 I FIUER B | 9UH $TR S0 oTF 1 A qen i
TR | GH SRS o = = 99 o F A g
¥, & e o w2
(A) 5
€)1

(B) 8
(D) 4

A three digit number has digits in strictly
descending order and divisible by 10. By
changing the place of the digits a new three
digit number is constructed in such a way that
the number is divisible by 10. The difference
between the original number and the new is
divisible by 40. How many numbers will satisfy
all these condition ?

TF 419 o T S W 10 3 frfem & % ofF oot #n
H T | ST 3 T A ICOTRL T T A ST b S
i 5 e ¥ fFan s & R 7 Ao oft 10 ® favsa En
T HE SR T WA T o w oAaT 40 9 faefaa & @
Tt fopeit e 3wt feerfeal =it S =it

{A) 5 (B)6

)7 (D)8

How many two-digit numbers, with a non zero
digits in the units place, are there which are
more than thrice the number formed by
interchanging the positions of its digits ?

T 17 A T TR T TYe g, T offm Siw g
I T T ¢TeF i TeTed T 9T WE & TE 6 i ow

e erfier £ 2
(A) 5 (B) 15
(C) 6 (D) 14

Let K he positive integer such K + 4 is divisible
by 7. Then the smallest positive integer n,
greater than 2, such that K + 2n is divisible by
7 equals.

I K TF TAE TME WA S E MK+ 4, 7 R
Tt & @@ n 1 WOY B TH F@ST S 2 ¥ A9 39
TR PR K+2n, 7 9 faufsa 21 2

(A) 9 (B) 7

(€) 5 (D) 3

In a two digit number, the digit at the unit's
places is 1 less than twice the digit at the ten's
place. If the digit at unit's and ten's place are
interchanged. The difference hetween new and
original number is 20. Find original number ?
R T A R S R SFF TR A L F9§
TE e e H ST e wen § 20 T, UE 6 E ?

32.

33.

(A) 23 (B) 35

(C) 47 (D) 59

When a two digit number is divided by the
product of the two digits, the quotient is 2 if 27
is added to the nubmer, the original number
turns into a new number with the digits
reversed find the product of digits of this
number?

I T STH W WA i TEE ST T UES W A e
I E T ANTHR 2 ST | 9% 79 W H 27 e G e
1 ST UTTE TG & | ST YOAEE 99 D ?

(A)42 (B) 36

(C)18 (D) 45

A student appeared in Mother's Education Hub
test, the test contains three sections namely
Q A, Reasoning and English. The percentage
marks in english was equal to the average of
the percent marks in all three sections
concidently, if we reverse the digit of percentage
marks of QA, then we get the percent marks of
reasoning, than find the percentage in English
scored by the student ?

T BT 7 US[eRH ©9 F %< § WITHe goll | 2 3 ©e
HEAr=: STRTT aekarrar e 1o | o7t o wierg ofF
Tt A WS F Arawm T S T T € | HEaw e
T, ST 3 ST =1 B2 & 1 5 TR & o1
G F0 § | D G STUS A A AR $7 e w2
(A) 48% (B) 66%

(C) 69% (D) 81%
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Solution

1.(B) Let the given number be = (100x + ) F=A+B+C,E=A+B,C=AB=2AD=E+F
After interchanging it would be = (100y + x). D=2A+2B+C=6A+C, We have to find the

largest possible value of D.

The only possible value of A is 1 because if A

=2,D=12+Cevenif C iz O, D is two digit

Given,
(100x +¥) = (100y + x) — 198
= 99x-99y=-198

number
= y-x=2 IfA=1,thenC=1
So, difference between first and last digits is 2. D=6*1+1=7
2.(D) Let the numbers be of the form 10x+ ¥, and its 7. (A) Let the number= 10a+b
reverse is 10y + x. Number formed after reverse the digit = 10b
Then, ta

10x +y - {10y + x) = 9x - 9y New number = 10a+ b+ 10b+a

= 9(x—y) =1la+11b
i o v = 1l(a+h)
Now, difference is 2( ’ S") : — Which is the multiple of 11
Ox-y)=2

- x-y=3 8. (B) Lf?t two digit number= 10x+y
So, required numbers are 14, 25, 36, 47, 58, Given, 10x+y = 3(x+y)
69, 41, 52,63, 74, 85 and 96. So, total 12 such /. 10x+y _ §x+3y
2-digit numbers would be there. N T - 2§ S 3[2)

3.[(A) Given that unit digit of X and product of all 4 and

digits of X are prime. 10x +y +45 = 10y +x
The product of two number to be prime is pos 10y +x=10x -y B 45
sible only when 1 of numbers is prime and the ry 9y - 9x B 455 (i)
other is 1. YT X T T n
The possibilities of the prime unit digits are 2, 23;211;&3? W&
3,5,7. ,

Required Answer=x+y=2+7=9
The possihility of remaining 3 digit, consider- o
ing the product of all 4 digit to be primeis 111 9. (C) Let unit digit = x

only. - 10U digit=x+5
The possible number are 1112, 1113, 1115, - Original Number = 10(x + 5) + x
= 11x +50
1117. again
4. (D) S=100x + 10y + z + 100y + 10z + x + 100z + = 1lx+50-5@2x+5) = 10x+x+5
10x+y : = 10x=20
; =x=2

S=111x+111ly+111z

S=111(x+y +2) - Required Answer =2x+5=2(2)+5=9

83=37x3(x+y+z 10.(C) It is given that 10 < n < 1000
. Option 1 & 3 are right. Let n be two digit number,

5. (A) xyz-yxz=100x+ 10y +z- 100y - 10x -2z Then n = 10a+b
=90 (x-¥) = P = ab
x—>1,2,34,567,8,9 , = a+th
v—0,1,2,34,5,6,7,8 Given
SX Sﬁ'{y%FQ value possible% | P +3 =n

abt+a+b =n

6. (A) Letnumber = ABCDEF ab+a+b = 10a+h
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Mother's « Number System (Part-3)

11.(B)

12. (C)

ab = 9a
There are 9 such number 19, 29, 39
Now, let n be a three digit number

= n = 100a+ 10b+c¢
Pn = abc
Sn = atb+c
Thenabc+a+b+c=100a+ 10b +¢
bc=99+%
a

But the max M value of bc = 81 (When both b
& ¢ are 9) and RHS is more than 99,

Hence number such three digit number is
not possible.

.. There are 9 numbers.

Let two digit number = ab

Given,
4(10b+a)+3 = 10a+h
= 40b+4a+3 = 10a+b
= 6a-39b = 3
=2a-13b=1.... (i)
and
= a+th)+7 = 10a+hb
= 8a+8b+7 = 10a+h
=2a-7b=7 ... (it)
subtract equation (i) from (ii)
6b = 6
b=1
2a-13 =1
2a = 14
a=17
s Number =71

= Required multiply of digit=7 x 1 =7

Let the four 2-digit odd number be :
n-3,n-1,n+1,n+3

Sum of these 4 numbers = 4n

When the sum is divided by 10, you get a per-
fect square that include 1, 4, 9, 16, 25, 36, 49
and so on,

4
Possible values of % are 4, 16, 36

10
ber are 7,9, 11, 13 (all of which 2 digit)

=4, then n = 10; The corresponding num-

4n
If 0 - 16, then n = 40; The corresponding
numbers are 37, 39, 41, 43

4
If % = 36, then n = 90; the corresponding

number are 87, 89, 91, 03,

13. (4)

14. (B)

16. (D)

Let two digit Number = ab

Given,
4a+h+3 = 10a+h

= 4a+4b+3 = 10a+b
= 2a =b+1..... (i)
and

Jab+5 = 10a+h
put b=2a-1
=3alZ2a-1)+5=10a+2a-1
= 6a’—-3a+5 = 12a-1
= 6a’ - 15a+6 = D
= 2a’-5a+2 = 0
= {(2a-1)ja-2) = O

1

a# E,a =2

Ifa=2,b=3

.. Required Number = 23
sum of digit= 2+ 3=5

Let two digit number = 100{2x) + 10y + X
=201x+ 10y ........ i)
and

2x+y+x = 18

Ix+y = (i)

Reverse the number = 100x + 10y + 2x
= 102x + 1Qy
given 201x + 10y — 102x - 10y = 398

from equation (ii)
3x4+y=18=>y = 6
.. Required Difference = 2x —y

=2x4-6

= 2

Lets two digit number = 10x + y
Herex >y

When reverse the digit = 10y + x
Given

= 10v+x = 4y + 10x) - 24
= 10y +x-4dy-40x = -24

= 13x-2y = & ........ (i)
again

X-¥=7 ... (i)

after solved equation (i) & (ii)
x=9,y=2

Required number = 92

If the number be (10x + y) then number oh-
tained by reversing the digits = 10y +x

L l0x+y+ 10yv+x=11{x+y)

[fx +y=11, the possible pairs are = (2, 9)(3,
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Mother's « Number System (Part-3)

8)(4, 7y and (5, 6) =>B-A=99{(z-%)
.. Required Answer = 8 nz-x=7
17.(A) Let number = 10y + x }z<= ;’g
Reversed number = 10x +y ’ 1y8 < A < 2y9
Given (10x +v) — (10v +x) = 63 108 < A < 299
= 9Qx-y) = 63
= X-y =7 23.(A) Let number is xyz
Here Given
; _ gfzg 100x+10y +z =7a
100z +10y +x="7h
18.(D) Let number = xyz = 100x + 10y +z

new numhber = xzy = 100x + 10z + vy

Given, 7(a-b) =99 (x-2)
(100x + 10y +2) — (100x + 10z +y) =45 = So
= Ay-z) = 45 (x - z) Should be multiple of = 7
= y-z =25 LX=9,8
z=2,1

19.(C) Let the number = 10x +y - Required Number = 9y2, 8y1, 2y9, 1y8

given (x + v)(lOx +y) =424 ........ (i)
and (X"" Y][l Oy +x) = 280“ -------- (ii) 24.(D) Letnumber = xy = 10x +y
Equation (i) + Equation (ii) . Reverse Number = yx = 10y +x
Given,
10x+¥ 424 *
= = 10x+y - (10y +x) =53
10y+x _ 280 Q[X—y5](=[53y )
10x+y 53 - 33 iz not a multiple of 9
= T = 35 ~. No number is possible
350x + 3%y = 530"y +53x 25. (A) Letnumber = xy = 10x +y
X:y = 5:3 Given,
S x=5 y=3 Xty = 8....... (i)
Required number = 53 and 10x +y - (10y +x) = 54
Required sum=5+3=8 = O(x-4) = 54
20. (C) Let number = xy g X=y = 6., i)
Given, From equation (i) & (ii)
= xy = 24 x=7, y=1
and number = 71
l0x+y+45 = 10y +x 26. (B) Let number = xy = 10y + x
= Y_SX =5 3 given,x=y+4 ....... (i)
2 y = s X =
Required number = 38. andx +y= [103{ + YJ (i)
A 7] e
21.{A) Let number = xy ] . o
ey i:)l\fl:ng (1) fﬁd (i)
x(x+y) = 247 sn 7
yix+y) = 114 o _
= x(x+y)ty(x+y) = 247+114 Reserve of Number = 48
= x+y)? = 361 . , _ 48 _
o xty = 19 Required remainder = 6.
22.(B) Let number A = xyz 27.(A) Let the four digit number be abed.
and B = zyx at+b=c+d....... (i)
L B-A=100z+ 10y +x-100x- 10y -z b+d=2(a+c¢)......... (id)

at+d=c...... (1ii)
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Mother's « Number System (Part-3)

28. (B)

29, (C)

30. (A)

From (i) and (iii) b = 2d
From (i) and (ii) 3b=4c +d
3(2d) = 4c+d

od = 4de
. 5d
- 4

Nowd, canbe 4 or 8

But it d = 8, then C = 10 not possible
So,

d= 4, which givesC =5

since the three digit number is divisible by
10, then the visit digit is O.

Let the three digit number = abo

after numberis also divisible by 10, thus only
ab are interchanged

New number = hao

Given,

{(100a + 10b) - (100b + 10a) = 40K (K is integer)
90a-90b= 40K

50{a-b) = 40K
9
K= 2 (a—"h)
K=1,2,3 ... (integer value)

.. a—b should be multiple of 4 and 8

Thus, number could be = 510, 620, 730, 840,
950,910.

There are 6 numbers that satisfy these con-
dition.

Let ab is the two digit number where by 0 we
will get number ba after interchanging its digit
it is given that

= It is given that

= 10a+b>3(10b + a)

= 10a+b>30b+3a

= 7a>2%b

Ifb=1,thana=4{5,6,7, 8, 9}

Ifb =2, than a = {9}

[fb = 3, than no value of a possible

Hence we can say that there are a total of 6
such numbers.

b=(k+2n)+7 (ii)

(b - a) is also divisible by 7
2n - 4 is also divisible by 7
2n-4=0,7, 14

When Z2n-4 =0
2n = 4

n = 2 (which is not possible)

= 2n-4 =7

11
B} (Not Possible)

n =
2n-4 = 14
2n = 18
n=9
31.(C) Let number =xy = 10x+y¥y
given,
v=2x-1.... (1)
and 10y +x-(10x+y)= 10x+y-20
19x -8y =20...... (it)
after equation (i) & equation (ii)
Solved
x=4,y=7

32.(C

33.(B

)

)

- required number = 47

Let original number =xy = 10x +y
Product of digit = xy

Given,

2xy = 10x+y ... (1)

and 10x+y+27 =10y +x

= 27 = 9y -9x

= 27 = 9y -x)

= y-x =3

=y =x + 3 placed in equation (i)

= 2x(x+3) = 10x+x+3

= 2%’ -5x-3 = 0

= x=3, B (%)
x=3,y=x+3 =3+3=6

Number = 36
Required product= 18

Let the percentage marks in QA =(10a + b)%
Let the percentage marks in Reasoning = (10b
+ a-)(l 4

Let the percentage marks in English = x%
ATQ,

{10a+ b+ x+{10b +a)

i) =X
O
lla+1lb+x = 3x
11 b
= —f{a+
x = S (a+h)

Thus the percentage of the English section
is amultiple of 11.66%.
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